Look at these number bonds: Draw a line to link the number shapes so that
0+6 145 2+4 3+3 4+2 5+1 6+0 together they make 6.

What is the same?
What is different?

Discuss your answers with
your grown-up.

The Number Bond
‘Clap Stamp’ activity.

Can your partner guess which number

bonds you have made to 6 using claps
and stamps?

For example:
‘Clap clap, stamp stamp stamp stamp’

Ask your partner to guess the number
bond... Thatis 2 + 4

Now try:
‘Clap clap clap, stamp stamp stamp’

What number bond does that represent?
That is 3 + 3!

Try some more of your own combinations
that make 6!
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